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1. Write your Roll No. on the top 1mmed1ately on recelpt of this questlon paper.
The paper is divided in three sections: Queshons from €ach ‘section should be :
attempted together.
3. Al questlons are compulsory o
4 Marks are 1nd1cated ‘against ¢ each questlon o
5. Answers may be written either in English or in Hindi;-but the same medium should
be used throughout the paper.
BEl & fog
L W TE-TE S feR 8 oW Ry v FiRe e ) s s ke |
TH - ﬁﬁ?@éﬁﬁﬂfﬁﬁ%l@ﬁ@g&?ﬁ%mwmaﬁm
sl g FREE 7 A el GRS AR R s e i
e Tei I D W sifnd 2
T4 YT - 97 1 IR aﬁ@m%ﬁ%ﬁwmﬁaﬁq %aﬁaﬂfrmww
B Bar Tfgua o : - -
T Section - A )
wiensds | P Quapiity. L Puss L Pmaaity
1. (a) With the help of calculus, explain how average revenue, marginal revenue

and elasticity of demand are related to each other? If average revenue curve
is a rectangular hyperbola, draw the corresponding marginal revenue curve.
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(b) Define elasticity of supply. Prove that the elasticity of supply on a straight
line supply curve passing through the quantity-axis is less than one.  (5)

(c) Suppose the demand function is Q_, = 300/P_derive
(1) Individual demand schedule
(i) Individual demand curve
(i) What type of demand curve is this?

(iv) What is the value of elasticity of demand? (5) -
OR

(a) Prove that in the case of two straight line demand curves, with the same
point of origin on'the price axis, at any given price the ¢lasticity is the same =~
inspite of different slope. , (5)

(b) From the two demand schedules given below using total expenditure method
determine the elasticity of demand.

Price (P) 4 3 2 1
Quantity (Qx) 120 150 200 300
Quantity (Qy) - 4---225. - | 325 .| 500 1100 |
L P BT R YA PISIE SRR IS AT TRON f\:w‘."' r‘7';1-A~i|:1}i{-:{‘.: Cl‘l“iﬂ‘:';x.":.ga:\-;-i-'l::": ‘-
(5) "
N,

(c) Calculate Cross-Price elasticity of demand from the data given below and
comment on the relationship between the two:

Before After
Goods Price - Quantity Price qua;;.tity
Tea (x) 20 40 20 50
Coffee (y) 40 | 50 60 30 (5)
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2. (a) Explain price effect is summation of income effect and substitution effect in

case of inferior goods. ' (7.5)
(b) (Attempt any threej
Draw indifference curve when:

(1) One good is bad and the other is good. (2.5)
(i) When botl}_ goods are :bfld. | (2.5)
(i) When MRS is constant. (MRS = Marginal Rate of Substitution) (2.5)
(iv) When MRS 1S Zero. - (2.5)

OR

‘(a) Monica’s budget line relating to good X and good Y has intercepts of 20
units of good X and 10 Units of good Y. If price of good X is Rs 4.00 what
is Ram’s income. Calculate the price of good Y and the slope of the budget
line. : )

(b) Why does a consumer attain equilibrium at a point where the slope of budget
line is equal to the slope of indifference curve and indifference curve is

convex to origin? Explain with the help of diagram. (7.5)
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(iv) @ MRS 3= 21
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3. (a) Aproduct can be produced by using inputs labour and capital and firm’s.
output position indicates MP = 3, Pk = Rs. 1.00, MP| = 6 and P, =
Rs. 4.00. Is the firm employing cost minimizing combination of input capital
and labour. If not, what should the firm do? o (7.5)

(b) Isoquants can be convex, linear or L shaped. What does each of these
shapes tell about the MRTS between two inputs. | (7.5)

OR

(2) What are Ridge Lines? What.is the relevance of these lines ini the theory of
production? , : ‘ (7.5)

(b) How does a producer choose an optimal input combination to maximize

output subject to a given cost? o (7.5)
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(a) From the following cost function,
TC= a + bQ + ¢Q? where a, band ¢ > 0

Find: TFC, TVC, AFC, AVC, AC and MC. | (7.5)

A (b) Assume Labour is the only variable input-in- the short run and the price of'

J'Iw(b) Explam that long -run marginal cost curve is derived from shortTun marginal

labour is constant, explain the U shape of the AVC and then MC curves in
terms of shape of AP "and MP| curves respéctively. ~ 7 T 1.5y~

OR

(a) Explain relationship between economies of scale and learning curve. What

do you understand by learning curve. (7.55)

r u 7(*,».

" cost curves but does not envelope them. I (7.5)

TC=a+bQ+cQ?G{ﬁa b&ﬁl c>0

I a?rm TFC, TVC, AFC, AVC AC AR MC.
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Section-C

R

5. (a) If the firms are in short run equilibrium, will the competitive industry as a
whole be in equilibrium in the long run also? Discuss using suitab[e"diagfams.
' (7.5)

(b) Derive the Long Run Supply Curve of increasing and decreasing cost industry..

R (2) R

"OR

(a) How does a price ceiling by the Government affect producer surplus and
~ consumer surplus? (7.5)

(b) Explain and diagrammatically show: .
(i) Walrasian unstable equilibfium arid Marshallian stable equilibrium
/’ (i1) Walrasian stable equilib_rium and Marshallian unstable eQﬁilibrium (7.5)
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